Energy Notes
The plan calls for 100 new sites across the country. Each site would contain 10 1350MW reactors refueled by one fast breeder reactor. This would create a total supply of 1,350,000MW.

36 of these sites would be located along the coast of the Gulf of Mexico. 
500MW of energy would be used for massive desalinization at each of the 10 reactors of the aforementioned 36 sites. So, subtracting out the energy used for producing hydrogen and desalinating sea water, we get a total production of 1,170,00MW.

1,350,000MW – 36(sites)*10(reactors per site)*500MW(energy for desalinization) = 1,170,000MW

Things for research:

How much does it cost to build a 1350MW nuclear reactor? 
Roughly $2000 per kW which yields $2.7 billion per reactor. The cost of 10 reactors at each site is then $27 billion. The cost of 100 of these sites would then be $2.7 trillion and take between 3 and 5 years to build. These costs can vary wildly and could be upwards of $3500 per kW or $4.725 billion per reactor, leading just the construction of the regular nuclear reactors to be $4.725 trillion. 
How much does it cost to build a fast breeder reactor? 
About twice as much as a normal reactor. (Some Wikipedia page about a fast breeder reactor in the United States meant to test commercial viability of fuel reprocessing.)
How much spent fuel can one fast breeder reactor process? 
960,000kg per year (Econimics of Breeder Reactors in France, 2008, pg 16)
How much fuel is required for the 1000 1350 MW reactors? 
208,000kg per year per reactor ~208,000,000kg per year for the entire project. (I have written down, 268,000 and 268,000,000 respectively on the sheet but I can’t see how I came up with those numbers. I got the 208,000 by multiplying the 150,000kg required for a 1000MW reactor by 1.35 to find the estimate for a 1350MW reactor.)(Fundamentals of Nuclear Engineering, Chapter 11, p25) 
How much electricity is wasted via transmission through inefficient design in the current grid? 
Electricity generation lost through transmission of electricity was estimated to be 6.5% in 2007. This would indicate that there is very little to be gained from an entire rebalancing of the electrical grid.
How much efficiency could be gained if we switched the grid to high voltage direct current? 
Uncertain, but as inefficiency in the grid is actually quite low, the cost of switching to high voltage direct current probably could not be offset  by any gains in efficiency.   
How much does it cost to burry one mile of power lines (average)?
$40/ft -> $211,200/mi according to the Undergrounding page on Wikipedia. This figure seems to only be talking about high voltage lines.
How many miles of power lines are there in the U.S.? 
160,000 miles of high voltage power lines. This would bring the total cost of undergrounding all of the high voltage lines to $33.792 billion.
How much fresh water would be produced using the amount of energy described above? 
Using standard distillation, it takes 10 kWh (kilowatt hours) to produce 1 cubic meter of fresh water. At that rate (500,000 kW *10 reactors*36 sites = 180000000 kW), 18 million cubic meters (4.755 billion gallons) of fresh water would be produced hourly. If we multiply that by the 8760 hours in a year, this method would yield 157.68 billion cubic meters (41.654 trillion gallons) of fresh water. Another method of producing fresh water from salt water is reverse osmosis which takes about 4 kWh to produce 1 cubic meter of fresh water. Using reverse osmosis and the same 180000000 kW of energy production would result in 45 million  cubic meters (11.887 billion gallons) of fresh water per hour and 394.2 billion cubic meters (104.136 trillion gallons) annually. Furthermore, Siemens has developed an electrodialysis method that reportedly only takes 1.8 kWh to convert 1 cubic meter of water. Siemens claims it can get that figure down to 1.5 kWh per cubic meter with further testing and research.  Even if the technology only reduces the energy required to desalinate sea water down to 2 kWh per cubic meter of fresh water produced, electrodialysis would yield 90 million cubic meters (23.775 billion gallons) hourly, 2.16 billion cubic meters (570.61 billion gallons) daily, and 788.4 billion cubic meters (208.27 trillion gallons) annually. In the year 2005, the  United States consumed 1.552 billion cubic meters (410 billion gallons) of water daily at an annual rate of 566.486 billion cubic meters (149.65 trillion gallons). Using either reverse osmosis or the electrodialysis  could result in a 69.5% to 139% increase in total water supply in the United States.
What is the typical power draw of a waste/trash plasmafication plant? 
These plants are meant to be net producers of energy. Thus we will assume a zero draw.
How much waste/trash do plasmafication plants reduce with said energy draw?

A single plant can reduce up to 90,000 tons of waste annually.
What happens when you try to adjust for more pure results like putting in only banana peels or tin cans?
What can you do to increase the melting point of plutonium so that the reactors can run at a higher temperature than 625 C?

As fuel Plutonium-Uranium-Titanium increases the melting point of the plutonium significantly (Wikipedia), so that reactors can run at up to 1000 C(probably). Such a compound would indicate that for every 208,000 kg of plutonium used, we will also require 202885 kg of uranium and 40833 kg of titanium for a 1-1-1 molar ratio.
